

2.88

1c2

$n=1$

$2^0 (a+b) \geq a+b$ ✓

$n=1$

הנחת האינדוקציה

$n=k$

$2^{k-1} (a^k + b^k) \geq (a+b)^k$

$n=k+1$

$2^k (a^{k+1} + b^{k+1}) \geq (a+b)^{k+1}$

נראה את השעיה הפשוטה הראשונה הנקראת:

$\frac{2(a^{k+1} + b^{k+1})}{a^k + b^k} \geq a+b$

$2a^{k+1} + 2b^{k+1} \geq a^{k+1} + a^k b + b^k a + b^{k+1}$

$a^{k+1} + b^{k+1} \geq a^k b + b^k a$

$a^k(a-b) + b^k(b-a) \geq 0$

$b^k(b-a) \geq a^k(b-a)$

$a^k(a-b) \geq b^k(a-b)$

וגם נראה ש:
אם $b=a$ קיבלנו $0 \geq 0$
אם $b > a$ נעביר את הנקרא
ונה נכון כי $a > b$
אם $a > b$ נעביר את הנקרא
ונה נכון כי $a > b$
לכן הנשעיה נכונה.